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GUESS PAPER – 2010
Class – XII
Subject  - Accountacy
· RECONSITUTION OF A PARTNERSHIP FIRM:-









If there is any change in the exiting agreement of partnership, amount of reconstitution of partnership firm. The change in the agreement b/w the partners will result in changes of relation among the partners. So the reconstitution of partner will bring to an end of exiting agreement and a new agreement will come into force. It may be in the following cases….
I. If there is any change in profit sharing ratio of exiting partner

II. if there is an Admission of new partner

III. If there is Retirement of exiting partners

IV. If there is Death if any partner

ADMISSION OF A PARTNER:-SEC.31 OF INDIAN PARTNERSHIP ACT provides that a new partner shall not be admitted into the firm unless until there is the consent of all exiting partners or agreed otherwise when a partner is admitted into a firm he acquires two main rights in the firm:-












1. He will have right to share the profit of partnership business.




2. He will have right to share the assets of partnership business.



For sharing profits of business, New partner will contributed some amount i.e. Capital & Premium of Goodwill.

· CALCULATIONS OF NEW PROFIT SHARING RATIO IS:-

There are Three cases for calculating new shares of partners

CASE (I):-      When only new partner share is given:-
FOR E.G. Shilpa & Divya Are Partners Sharing Profits In The Ratio 5:3. Leena Is Admitted For`1/4` Share In The Profits. Calculate New Profit Sharing Ratio. 
(SOLUTION)  Calculation of new profit sharing ratio


Old ratio of shilpa&divya = 5:3 or 5/8:3/8

Let the total share be=1,     leena`s share=1/4

Remaining share of shilpa & divya=3/4 (1-1/4)


Shilpa`s new share  :- 3/4    5/8=15/32
Divya`s new share:-    3/4     3/8=9/32

Leena`s share:-           1/4      8/8=8/32

So, the new profit sharing ratio is  15:9:8

CASE(II):- When new partner acquires/takes his share from the old partner in a particular ratio

  FOR E.G.:-Sakshi & Shikha are partners and sharing profit/losses in the ratio 5:3.Saloni is admitted for 1/5 shares which she takes 1/10 from sakshi & 1/10 from shikha.

    (SOLUTION)   Saloni acquires his share 1/10 from sakshi & 1/10 from shikha
Her new shares comes=1/5 (1/10+1/10)

Sakshi`s new share:-5/8-1/10 =21/40

Shikha`s new share:-3/8-1/10 =11/40`
SO THE NEW RATIO B/W SAKSHI,SHIKHA &SALONI IS 21:40:8

CASE(III):-   When the Old partners surrender`s/gives up his share to new partner
  FOR E.G.:- Akshay & Kumar are partners sharing profit/losses ratio in 5:3. Kajol admitted and Akshay surrendered 1/20 of his share and Kumar surrendered 1/24 his share in favor of Kajol. Calculate new profit sharing ratio.

 (SOLUTION)   Akshay`s share=5/8   ,   Akshay`s surrender = 1/20     5/8 = 1/32

So,Akshay new share is 5/8-1/32  = 19/32

Kumar`s share=3/8,   Kumar`s surrenders=1/24     3/8 = 1/64

So, Kumar`s new share=3/8-1/64 = 23/64

Kajol will get =1/32+1/64=3/64

HENCE, New ratio is:-19/32:23/64:3/64 or 38:23:3

   



OM SAI RAM
CALCULATION OF  SACRIFICING/GAINING RATIO:-

                           REMEMBER:-                     S
        O        N



                    SACRIFICING    = OLD  ----   NEW

  FOR E.G.:- Salman & Khan sharing profit losses 5:3. Aishwarya is admitted and new the New profit sharing ratio is EQUALLY b/w among them. Calculation of Sacrificing/ Gaining ratio:-

(SOLUTION)   Salman`s share: - OLD RATIO—NEW RATIO = 5/8-1/3  =7/24 (sacrifice ratio)
     Khan`s share:-  OLD RATIO—NEW RATIO  =  3/8-1/3  =1/24 (sacrifice ratio)
REMEMBER:- When the above calculation is in Negative form that means it is Gaining Ratio and that Partner will be Gaining Partner. So,  the JOURNAL ENTRY is :

· GAINING PARTNERS`S CAPITAL A\C___________Dr.







TO SACRIFICE PARTNER A\C








(Being the adjusted /Single entry passed).

(FOR MORE AND MORE DETAILS CALL ME ON:- 9888-988-024) 
· CROSS CHECKING:-  1. New partner share will complete the Denominator of all old partners new share.





                2.Sacrificing Ratio is always equal to the Gaining ratio.
· THE FOLLOWING ARE ALL THE JOURNAL USING INTHIS CHAPTER

· When goodwill is already exits in the  Assets side of balance sheet .

Old Partner capital a/c…………………………………dr.
(IN OLD

                      To goodwill a/c





      RATIO)
(Being the exixting goodwill written off)

     HARE RAM HARE RAM RAM RAM HARE HARE
· When goodwill is paid Privately by New Partner

FOR THIS NO ENTRY  WILL BE PASSED
· When new partner bough his share of Capital and Goodwill in Cash form
Cash a/c ………………………………………………………………Dr.



To New Partner’s Capital a/c


 
To Premium for Goodwill a/c

(Being new partner`s bought his capital & goodwill In cash form)

· When new Goodwill is shared among old partners

Premium for Goodwill a/c  …………………………………Dr.      (In Sacrifice/gaining Ratio)


To old partner’s Capital a/c

(Being the goodwill is divided into old partners)

· When the Old Partners withdraw (Drawing) the Goodwill

Old partner`s Capital a/c…………………………………….Dr.                (In Old Ratio)


To Cash a/c








                          (Being the goodwill withdraw by old partners)
· When Goodwill is brought in any Kind.

Concern things a/c…………………………………………….Dr.                (As in ques.)


To Premium for Goodwill a/c

(Being the goodwill bought in kind)

· When New Partner cannot bring his share of Goodwill in Cash
New partner`s Capital a/c……………………..Dr.







      To Old Partner`s Capital a/c
(Being the goodwill is not brought by new partner)

· When Accumulated Profits(given in Liability side of B/S)
General Reserve a/c……………………………...Dr.      (In Old Ratio)
Profit and loss (in liability side) a/c…………Dr.     (In Old Ratio)

Workmen Compensation Fund a/c………..Dr.      (In Old Ratio)

Investment Fluctuating Fund a/c……………Dr.      (In Old Ratio)

To Old Partner Capital a/c

(Being the A.P. Transferred to Old partners capital a/c)

JAI MATA DI
· When Accumulated Losses(given in Assets side of B/S)

Old Partners Capital a/c…………………………Dr.   (In Old Ratio)

To advertisement Suspense a/c


To Profit and loss(in Assets side) a/c

(Being the Accumulated Losses transferred)

REMEMBER:- Only Three reserve/Fund i.e. General Reserve, Investment Fluctuating Reserve Workmen Compensation reserve are transferred to Capital a/c and Accumulated losses i.e. Advertisement Suspense a/c will be transferred

(WHY ONLY ABOVESAID RESERVE/LOSSES BE TRANSFERRED TO CAPITAL A/C??????)
(FOR ANSWER CONTACT ME ON:- 9888-988-024) 
HIDDEN GOODWILL(V.V.IMP.):- Under Partnership Act 1932,Every new partner is entitled to brings his share of capital  and his share of Goodwill. But sometimes he pays a `LUMPSUMP` amount as his share of capital (including goodwill). It means the amount of Goodwill is Hidden So, calculation to find out the Hidden Goodwill is as below.


·           New partner`s capital amount




+++++
                       New Partner`s share
Add: All Accumulated losses





++++

Less:- All partners capital(including new partner)
-----
                            
      All Accumulated Profit

      

-----

++++
Total Goodwill of the firm





+++++
So, New Partner Share of Goodwill





    =Total Goodwill of the Firm     New Partner`s Share

HERE, 


JOURNAL









New Partner`s Capital a/c





To Old partner

(Being goodwill not bought in cash)

JAI NEELKANTH MAHADEV
· STEPS TO SOLVE/ATTEMPT THE BIG QUESTION EXAM.

There are SIX Wings

1.
JOURNAL

2.
REVALUATION A/C

3.
CALCULATION OF SACRIFICING/GAINING RATIO


(SHOWN IN 

4.
CASH A/C







 WORKING NOTES)
5.
CAPITAL ACCOUNT
6.
BALANCE SHEET OF NEW FIRM

· DESCRIPTION:__________

1. JOURNAL
(Solved as previous)

2. Revaluation a/c :- When the New Partner is admitted in the firm, then it is necessary to revaluated all the Assets and Liabilities and Calculate how much Profit/Losses is accrued and divided them in old Partners in Old ratio. The Revaluation is the difference b/w Opening and Closing Values
· FOR INCRESE IN THE VALUE OF ASSETS (PROFIT)







Concern Assets a/c…………………………Dr.







To Revaluation a/c










(Being increase in the value of assets)

· FOR DECRESE IN THE VALUE OF ASSETS(LOSS)







Revaluation a/c……………………………..Dr.






            To concern Assets a/c                   






(Being decrease in the value of assets)
· FOR UNRECORDED ASSETS(PROFIT)









Concern Assets a/c…………………….…………….Dr.






   To Revaluation a/c








(Being unrecorded assets record)

JAI SHREE RADHE
· FOR INCRESE IN THE VALUE OF LIABILITY(LOSS)







Revaluation a/c……………..………………..Dr.







To Concern Liabilities








(Being increase in the value of Liabilities)
· FOR DECERESE IN THE VALUE OF LIABILITY(PROFIT)








Concern Liabilities a/c………………………Dr.







  To Revaluation a/c








(Being decrease in the value of liability)

· FOR UNRECORDED LIABILITIES(LOSS)








          Revaluation a/c………………………….…………Dr.







  To concern Liabilities a/c







(Being unrecorded Liabilities record)

(FOR MORE & MORE DETAILS CALL ME ON:-9888-988-024)

REVALUATION A/C
	PARTICULARS
	AMOUNT (RS)
	PARTICULARS
	AMOUNT(RS)

	To Concern Assets
(Decrease in Value)
	+++++
	By Concern Assets

(Increase in Value)
	+++++

	To Concern Liabilities

(Increse in Value)
	+++++
	By Concern Assets

(unrecorded assets)
	+++++

	To Concern Liabilities

(unrecorded liability)
	+++++
	By Concern Liabilities

(decrease in Value)
	+++++


REMEMBER:- 1.In Revaluation a/c all `LOSSES’ in Debit side and All `PROFITS` records in Credit side.
                       2.
OPENING VALUE  = NO TREATREMENT



CHANGE IN VALUE  = REVALUATIOM A/C




CLOSING VALUE  = BALANCE SHEET


JAI MAA SARASWATI 
3.CALCULATION OF SACRIFICING/GAINING RATIO (WORKING RATIO)





(-- SOLVED AS PREVIOUS)





4.CASH A/C (WORKING NOTES)
	PARTICULARS
	AMOUNT (RS)
	PARTICULARS
	AMOUNT(RS)

	To bal b/d
	+++
	By partner`s capital (amount withdraw)
	+++

	To new partner`s capital
	+++
	By bal c/d ( carry forward to B/S)
	+++

	To Goodwill (new partner)
	+++
	
	

	To partner`s capital (amount bought)
	+++
	
	


(FOR MORE & MORE DETAILS CONTACT ME ON:- 9888-988-024) 
 5.PARTNER`S CAPITAL A/C

	PARTICULARS
	AMOUNT (RS)
	PARTICULARS
	AMOUNT(RS)

	To goodwill

(existing goodwill)
	++++
	By Bal b/d
	++++

	To P & L a/c (in b/s)
	++++
	By Reserves
	++++

	To Loss on revaluation
	++++
	By Profit on revaluation
	++++

	To accumulated losses
	++++
	By P&L a/c (in b/s)
	++++

	To Bal c/d (B/F)
	++++
	By goodwill (bring by new partner)
	++++


JAI BHOLE BHANDARI
6.BALANCE SHEET OF THE NEW FIRM

	LIABILITIES
	AMOUNT (RS)
	ASSETS
	AMOUNT (RS)

	Capital a/c

(as calculated above)
	++++
	Cash 

(calculated as above)
	++++

	All Liabilities

 (with closing values)
	+++++
	All Assets

 (with closing values)
	++++


REMEMBER:- General Reserve, workmen Compensation reserve, Investment Fluctuating Reserve, Existing Goodwill, Profit & Loss (in balance sheet) are not to be shown in new Balance Sheet.

· ADJUSTMENT OF CAPITAL(V.V.IMP):- Sometimes, on the admission of a new partner it is decided that either the new partner will contribute as Capital an amount in the proportion ti his share of Profits or that the Capital of others will be adjusted to make them profits.  



 HOW TO CALCULATE IT
STEP (I) :-Calculate the Total Capital of the Firm




New partner`s capital amount

                                       New Partner`s share

STEP (II):- Total Capital of Firm       New Profit Sharing ratio











(one by one by all partners)

· That answer is called 
`TO BALANCE C/D`  And Debited to Partner`s capital a/c and then calculate `To Cash/By Cash` as B/F and transferred to Cash a/c
FOR ANY OTHER QUEEIES CALL ME ON:-9888-988-024
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